3wk

Gx) 3ERAE (F) 2 EtE b (HAT - TH)
wMOE oo B OJH AN @R i
B WIERTOKE | # 1E %8 5 ¥ TE B R S wmuE % 4 P L A
ERXHA& | K fflz o
V& Y BHEADOBERE R
1R & & #ik 294 67 361 67 SR B T2 4% 45 | EHRGEHRE 67
wo®B B BFiRERER
0% H # 5| kB FY%E 45
RER A 0% T4 45
10 2 5
n#& % % 17 THEE LB 5
IRECSr T 17
EE IEWR 17
REFUEREEE 189
418 = 1 Ak 265, 373 189 265, 562 189 0% H # 189 | BAiRERBA
T -
10752 189
THEE AL 189
FECXESXEE 471
5F5H C X 45,523 471 45, 994 471 0% B # 350 | B ER B
* X %
105 2 350
17 fi & F N 22 121 TEREL B 350
1740 b i A 121
fif L A 121
= 566, 508 727 567, 235 727




GR) A%

(H) 1R A2

— 15

(EAT : TH)

WOE B oo M R W R &
H WERTORE | M £ %8 i . E A TR . B
I A% E 7 CwwmEl x4 P Gl Gl
IR XM & F oE|le o
" REFERTE 2,250
PR R fir 4R 2, 250 75, 766 2, 250 1S &4, 2,250 | BAJEEHBH
w % B Bh B VA8 £F
& 18BEHAE, ML O T4 2, 250
B OB AT 4 2, 250
T PN R B R R e 4 2, 250
H 2, 250 248, 212 2, 250




G Akt CE) 4 Lo

(HHz - TH)
ffiE B oo M OO R i
i IE R O%E H G S E { b/} , - B A
: MERIOW A= B M W R x » | & @m % g
R ZH et F EHlFx o
KEBEXLHME 27,000
1E Kk & 62, 643 27, 000 89, 643 27, 000 184, 27, 000 | BA 3R 25t BA
T - B B VA2 -4
4 18EHE, HliBh K OB T4 27, 000
T Bh M BS54 27,000
AEE S 4 27, 000
= 62, 643 27, 000 89, 643 27, 000

16 —




GK) Tpg LA

(8) 1pgT& (EA7 : TH)
WOE B o BN i
IERTO%E | #i | g ? E N y % B &
H MIERTORE | 1E %A LE I %l CwwmEl x4 & % i Y]
R4 5 &
BILIREE 4, 550
1 PG T Bl 7% 4,550 61,182 4,550 |18 & 04 . 4
Bh K VAR A 18 HE, ML O T4 4, 550
& T B OVAE 1 4 4, 550
TV T AP E R
B4 4, 550
2 4,550 61, 858 4, 550




GK) 9THBL#

(H) 1yEpLE (BN TH)
iE ®E oo MOJE N R i
IERTOKE " F S E 1 TR ; o B C
FIIERTOKR | 4 IE 48 BOE MK —pwmEl x4 b % i) ¥
ESIS A A &l o fh
REERSRRELE 9,045
4 58 R 10, 517 9, 045 19, 562 9, 446 A401|107% M #& 8, 418 | BAiRER A
107 H%E 8,418
17 fi o B A\ 2 627 MEF=E - ¢ 8,418
L7008 i A2 627
i S AR 627
2 211, 143 220, 188 9, 446 A401

— 18



